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241 Skate /paiklz/'? st Muss GO
A skater’moves down a ramp at point A with speed
3.0m/s. The skater slides along the illustrated track. -
Ignore friction and air resistance. Determine the lmk;i
speed of the skater at point B. (111F2023) 3.0m Faal
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Additional Problems

N

ele. .
309 % thrown back and forth

Two people, each mass 70kg, stand at opposite ends of a small 100kg cart. The person on
the left holds a 10kg brick. They are all at rest initially. (111F2023)

a) The person on the left throws the brick to the person on the right horizontally with
speed 8.0m/s. Determine the speed of the cart after th thas been launched.

b) The person on the right catches thesjsg@! and evenalgl‘ly holds it at rest relative to the
cart. Determine the speed of the cart after this.
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300 Balanced rod, unknown mass

.0 : .
A %31 lrgng rod can pivot about an axle through its
midpoint. A block is suspended at the illustrated point.
A rope is attached 1.25m from the midpoint and pulls

with tension 80N at the illustrated angle. The thickness 60°
of the rod is negligible. Determine the mass of the sus- FI '; ‘
pended block that will keep the rod at rest horizontally. 1.25m
(111F2023)
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